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21.a.    Calculate the economic order quantity.

            D = 40,000

            S = $25

            H = $0.50

Qopt = 


 = 

= 

 =  2,000 units

b.  How many orders should be placed per year?

Number of orders per year = D/Q = 40,000/2,000 = 20

c.  What is the annual cost of processing the purchase orders for condensers?

Annual ordering cost 
= (D/Q)S




= $(40,000)/2,000)25




= $500

d.  What is the annual holding cost?

Annual holding cost
=
(Q/2)H




= (2,000/2)(0.50)





= $500

e.  Calculate the total cost of ordering and holding inventory for a year.

Annual cost of ordering and holding inventory




= (D/Q)S + (Q/2)H




= $500 + $500




= $1,000

22.  a.  Calculate the economic order quantity




D = 9,000




S = $20




H = 16(0.25) = $4


Qopt = 

= 

= 





=
300 units

b.  Calculate the reorder point


Reorder point R
= 

L






  = 9,000/365 units




L 
= 3 days




R 
= (9,000/365)3





= 73.97 or 74, rounded

 Therefore, when the number drops to 74, place an order for 300 more.

c.  Calculate the annual purchase costs.



C
= $16

Annual purchase cost = DC




= (9,000)16




= $144,000
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